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R = 3 and the interval is [—2, 3)

R = 3 and the interval is (—6, 0]

n

f2) =3+ D"y

6. /() :ZH()"ﬂ@—l)%

— 2n)!

7.7
8. 37
9. V=35
10. V=2

0
11. 0=—

4
12. 0=—

6
13. An equation of the plane is 2x — 4y +9 =10
14. An equation of the plane is 21z — 5y + 292+ 124 =0
15. An equation of the tangent line is r = (1 4 /3¢, /3 + 2t,2)

. .. t t
16. An equation of the tangent line is r = <2 + 2 In4 + 3 14 t>
17. L=1In(v2+1)
18. L=¢—¢e!
19. T(t) = (—sint, cost,0), N(t) = (— cost, —sint,0), and B(t) = (0,0, 1)
-1
20. T(t) = (—sint,cos’t,—sint), N(t) = —m——
2+ 4sin’t
-1
———(1,0,-1)
2 +4sin’t

21. Kk = 7|t|

(1,sint, 1) , and B(¢)






